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Note : (Q. No. 9 & 10) Read the following statement — Assertion (A) and Reason (R).

Choose one of the correct alternatives given below :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.
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Assertion (A) : Laspeyre Index use base year quantity,

Reason (R) : Paashe index use current year quantity.
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